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#i ncl ude <i ostreanr
#i ncl ude <i omani p>
#i ncl ude <vect or >
#i ncl ude <cnat h>

usi ng nanespace std;
#i ncl ude “timer.h"

/] prototypes
int mai n(int argc, char **argv);

int main(int argc, char **argv)

Ti mer tiner;

Ti mer t1(tiner);
Ti mer t2;

I ong sunme0;

std::cout << "calling t2 = t1\n";
t2 = t1;

timer.start();

/1 chunk of code to test
for(int i=0; i<15000; ++i)
for(int j=0; j<15000; ++j)
sum += i *15000 + j;

tiner.end();
std::cerr <<

(" << tinmer.elapsed_s() << s) " << std

crendl;
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#i ncl ude <i ostreanr
#i ncl ude <string>

#i ncl ude <cstdlib>

#i ncl ude <sys/tinme. h>

usi ng nanespace std;

#i ncl ude “timer.h"

ostream& operator<<(ostream& s, const Tinmer& rhs)
{

s << "time elapsed: " << rhs.tt << " us" << std::endl;

return(s);

void Tiner::start()

{
ts = stanmp_us();
}
void Tiner::end()
{
te = stanp_us();
tt =te - ts;
}

doubl e Timer::stanmp_us()

doubl e s, us, tod;
struct timeval tp;

/1 get tine of day (tod), return in nicroseconds

getti meof day( &t p, NULL) ;

s = static_cast<doubl e>(tp.tv_sec);
us = static_cast <doubl e>(tp.tv_usec);
tod = s*1000000.0 + us;

return(tod);




